1 1201

thiel Jome : 55 Nails oL

d‘.’.“:"‘:{?"' J"d'; ’ ‘ e T E}L-cﬂ watles ..'r,..;‘- ty..al shsils Jﬂn

as/Y/v M (0)) gions ol R

Al gl Pl 5
ol g s e 2y

2425 gl i il

1PeF Jlu= Jolo lh}gl.'l S 3l ol )15 slao 590 9949 a_,.ajT

Nl of o (L81 i SNt i § 580 31 i

u‘ﬂg.u 2yl g .::'I.u.ﬁ ,L_.,.&h..-.ul n:-'lp ,-_'g,l_!.nﬁ

IJLD-:I L i)‘Lﬁ-n.-l _'1| __1'5...! Slaas u.lh‘n-d :|3.¢_ -u.ﬁ-_l_-.'l_,
¥ i T (S| i g gages by 1
r lge slojebie i ool | ¥
Ve &1 Ya colosle ;g T | ¥
A8 YF L ey gLt i g ohaladpaeasy | F
M AP L by g s sldlis | b
wa ViF Y- (GIS) pldl e SleSll sl g 390 3l pamiaw #

A5le A 5 p0d u,.nﬂ ol
e jle b il 3 salazul

e o e ol Loy o e e L gty i oAl il gl g g iy ) g g8y Sl L e

RQIRQIRIRG

ARG R REIREIRIREIRIREIREREIREIRE




Y amie 200A (117 o5) oLl s Ol e g 390 1 (Hemiw (a0

PART A: Vocabulary

Directions: Choose the word or phrase (1}, {2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1- By signing these papers, I agree to not ---———- any of my company’s financial records to
anyone outside of my firm,
1) authonze 2) articulate 3) divulge 4) victimize

2-  Without an antidote to treat the patient, the poisonous snakebite would prove --——-—- -
1) vulnerable 2) fatal 3) massive 4) extreme

3-  Stifling a yawn, Jackie covered her mouth as she listened to one of her mother’s -—--—-
stories about her childhood.

1) interminable 2) credible 3) widespread 4} literal

4-  After learning the lawyer accepted a bribe, the committee decided to ---—--- him and
suspend his license.
1} encounter 2) retahiate 3) underestimate 4) rebuke

5-  The government will ——----- any property that has been purchased with money earned
through illegal means.
1) resist 2) seize 3) eliminate 4 avoid

6- MNow that 1 have got another offer of employment, which sounds as good as the earlier
one, I am in a ---——-- as to which one to choose.
1) necessity 2) comparison 3) postponement 4) dilemma

7-  Since there is a huge —————--- between the results of the first and second experiment, the
laboratory team will conduct a third test.
1} discrepancy 2) autonomy 3) randomness 4) opposition

8-  To get a good grade on the research project, you must -—————- vour report with provable
facts.
1} inform 2) outline 3) substantiate 4) interfere

9-  We thought that the power cuts were temporary and would end but we have now
realized that this is a —----—- problem and will never end.
1) chaotic 2) perennial 3) fragile 4) memorable

10- If 4 —=-—- - answer can provide the information requested, there is no reason to bore a
person with a long response,
1) boundless 2) conceptual 3) concise 4) logical

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

It is very easy to lead someone’s memory astray. For example, if 1 witness a traffic
accident and (11) ——-—— whether the car stopped before or after the tree, I am much
more likely to “insert” a tree into my memory of the scene, (12) ~--—-——- no tree was
actually present. This occurrence reflects the fact that when we retnieve a memory, we
also re-encode it and during that process it is (13) ~——-— ErIrors.
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Elizabeth Loftus at the Umversity of California, Irvine, and colleagues have shown
that this “misinformation effect” can have huge implications for the court room, with
experiments (14) ——--- - that eyewitness testimonies can be adversely influenced by
misleading questioning. Fortunately, these findings also suggest ways for police,
lawyers and judges to frame the questions (15) === -- they ask in a way that makes
reliable answers more likely.

11- 1)1 am later asked  2) later asking 3) to be asked later  4) later asked
12- 1) even then 2) so even 3)asif even 4) even if
13- 1) a possibility implanting 2) possible to implant
3) possibly to implant 4) possibility of implanting
14- 1) are repeatedly demonstrated 2) repeatedly demonstrating
3) that are demonstrated repeatedly 4) to demonstrate repeatedly
15- 1) that 2) when 3) because 4) even though

PART C: Reading Comprehension

Directions: Read the following three passages and answer the gquestions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet

PASSAGE i:

The 2010 Haiti earthquake demonstrated how many orgamzations are involved in post
disaster damage mapping. The International Charter “Space and Major Disasters”, set
up by various space agencies, has been activated over 350 times. When the Charter 15
activated, these agencies generate initial satellite images on the disaster area.
Subsequent data processing and damage mapping are then done by a number of
different organizations, including the DLR Centre for Crisis information (DLR-ZKI).
UNITAR, and the Service régional de traitement d’image et de télédétection (SERTIT,
based at Strashbourg University, France) among many others. Moreover, commercial
plavers, such as the ExpressMaps service by SPOT imaging and Infoterra France,
provided reference maps.

In addition to the maps produced by traditional agencies. there were two other
prominent approaches to post-disaster mapping in Haiti. The first approach involved
crowdsourcing and the use of Google Map Maker and Open Street Map to rapidly map
Port-au-Prince. Hundreds of volunteers with local knowledge created a comprehensive
basemap of the disaster area within a few days, working on image data but often also
using ground knowledge. This local knowledge was an advantage that the largely
European-based map production of the Charter process lacks.

The second approach was done under the Global Earth Observation-Catastrophe
Assessment Network (GEO-CAN) imtiative led by the World Bank and the Global
Facility for Disaster Reduction and Recovery (GFDRR). Over 500 individuals used
remote sensing data to map damage visually, using an image-based collaborative
mapping tool called Virtual Disaster Viewer developed by ImageCat. In contrast to the
first approach, this one relied on experts and controlled access to its development.
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16-

18-

19-

20-

Such extensive mapping is in principle welcome. In the aftermath of the Haiti
earthquake, up to 10,000 NGOs were estimated to be active, so there was clearly
strong demand for data. However, the more than 2,000 damage maps for Haiti suggest
considerable duplication and a lack of coordination, It 1s not clear which of those maps
were actually used and whether they were useful to emergency workers on the ground.

What is the author's main purpose in the passage?

1} To present the points of view of a number of experts on the same topic

2) To describe a process by analyzing its stages

3) To compare and contrasts two types of mapping approaches

4) To outline several mapping approaches and then draw a conclusion

In paragraph 1, the anthor ——------—-—--

1) explains the involvement of d!fff:lf.‘ﬂ'[ organizations in the damage mapping of the
Haiti earthquake

2} describes how the International Charter “Space and Major Disasters™ set up various
space agencies

3) criticizes the approach many organizations took to process data and map the disaster
area in Haiti

4) emphasizes the key role of ExpressMaps service in producing reference maps

The word “prominent™ in paragraph 2 could best be replaced by --—----—----— :

1) creative 2) different 3) important 4) practical

It can be inferred from the passage that after the 2010 Haiti earthquake non-

professionals ------—-——---- .

1) created damage maps which were not useful

2) contributed significantly to post-disaster information gathering

3) showed willingness to help the victims

4) joined teams of experts to expedite the damage mapping process

Which of the following statements is NOT true according to the passage?

1) Virtual Disaster Viewer uses imagery to make mapping possible.

2) Both crowdsourcing and satellite technology contributed to Haiti earthquake damage
mapping.

3) Some of the post disaster maps of Haiti earthquake might have been duplicated and
uncoordinated.

4) The first mapping approach differed from the second one in that it relied on expert
knowledge.

PASSAGE 2:

Geospatial technologies all have costs associated with them to varying degrees. While
there are a variety of open source software packages available, often the best products
in particular areas are proprietary and come with software license costs. Using open
source software also requires highly knowledgeable software developers, who may
well be lacking in certain countries. Also, in many instances the effective adoption and
use of geospatial science and technology (GS&T) requires the development of
applications that are tailored to the specific needs of the organization. This means that
software development or customization may be required, which will have associated
costs.
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Besides software costs, GS&T relies on infrastructure and hardware. Many
technologies require easy and fast Internet access to be used effectively. This 1s
particularly the case for processes which rely on the public to submit information
using Web 2.0 technologies. For locations without fast and easy Internet access,
achieving some of the potential benefits of GS&T will not be possible without
significant investment in Internet infrastructure. Infrastructure investment will also be
needed to ensure that sufficient data storage and processing power is available at the
level of the end user.

In many developing countries, priority for limited resources is often given to
supposedly more pressing development activities instead of GS&T. This frequently
happens without a clear understanding of how dependent most development activities
are on the availability of timely, accurate and reliable geoinformation resources.
Consequently, the high costs involved act as a major barrier to using GS&T for
enabling development.

What does the passage mainly discuss?

1) The importance of geospatial technologies in today’s world

2) Strategies different countries use to make GS&T cost-efficient

3) Challenges to the adoption of geospatial technologies

4) The link between Internet and GS&T

What is the author’s main purpose in paragraph 2?

1) To discuss an additional requirement for GS&T

2) To describe the benefits of GS&T

3) To show how to keep software and infrastructure costs down

4) To argue that many technologies rely on the public for their survival

The word “barrier” in paragraph 3 could best be replaced by ———-----me—,

1) part 2) role 3) change 4) difficulty

It can be concluded from paragraph 3 that many developing countries —------—-- 3
1) consider GS&T the most urgent development activity

2) place hittle emphasis on geoinformation resources

3) utilize GS&T regardless of its high costs

4) strongly agree that most development activities depend on geo information resources
After reading this passage, you can infer that the author would probably approve of
approaches which —=—-=--nmx -

1) mobilize geospatial technologies in certain countries

2) help reduce the cost of accessing geospatial data

3) enable geospatial organizations to make considerable profit

4) allow proprietary software users to receive licenses

Passage 3:

Between 1988 and 2008, Cuba was struck by more than 20 tropical storms, of which
14 became hurricanes and seven were of great intensity. During this time period, a
total of 11 million people were evacuated. Disaster risk reduction is a priority for the
Cuban government. as can be seen in its vast legal framework and structural and
educational actions that positively impact social, economic and safety indicators of the
population. After assessing risk in a municipality, the Government establishes an order
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of priorities to reduce identified vulnerabilities. This implies planning the necessary
material and financial resources for the gradual reduction of risk, until it reaches a
level considered acceptable for all. To facilitate this work at the local governmental
level, the Cuban Civil Defense created the Risk Reduction Management Centre
strategy and prioritized its implementation for the most vulnerable municipalities.

The Cuban model of Risk Reduction Management Centers, which have been
supported by UNDP Cuba through diverse initiatives, establishes the possibility of
mitigating disaster impacts through an informed, coordinated, multidisciplinary and
decentralized approach which focuses on identifying hazards and acting preemptively
to reduce risks. This approach has contributed to the excellent track record in Cuba of
protecting human life and livelihoods through preparedness and institutional capacity-
building at a local level.

In order to establish the basis for the national disaster management activities, the
Cuban Civil Defense, together with national expert organizations, carried out a
comprehensive multi-hazard nisk assessment taking into account all types of hazards
that may affect the country. For this project, technology has been essential in
determining the historical databases of hazard events, generating maps of factors that
control the hazards. modelling the potential areas affected and the intensities expected,
mapping the exposure of buildings, population and other elements at risk, and
eventually in determining risk scenarios.

What does the passage mainly discuss?

1) The assessment and management of disaster risk in Cuba

2) The methads of identifying natural hazards in Cuba

3) The important contributions of the Cuban population to disaster risk reduction
4) The causes of natural hazards in Cuba

The word *it” in paragraph 1 refers to —-——- :

1) planning 2) material 3) risk 4) work

It can be inferred from the passage that the Cuban Civil Defense ———---—- —-.
1) equipped very few mumicipalities with modern risk reduction technologies
2} did not implement its strategy in all municipalities at the same time

3) found it hard to implement its strategy in vulnerable municipalities

4) failed to achieve disaster risk reduction at the national level

The word “mitigating” in paragraph 2 could best be replaced by ——--=--—ee-,

1) measuring 2) analyzing 3} lessening 4) predicting
According to paragraph 3, for the risk assessment project in Cuba technology plays an
important role in determining all of the following EXCEPT —--emmeemmmee,

1) the factors that affect the modelling of potential areas
2) the background of hazard events

3) the people and places exposed to danger

4) the intensity levels of hazard events
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